Q1:1002 102 # R ¥ oA F 114~ T FHRLFF -103
FERLRSB R20 87 FFLIXFPRELTEL
HRAPARRT VRIS FHYTEGFRIHER LA H S

Al :

1~ xyp TR&? SR FL B2 902 ) R TR F2
R rauEp g TEy o TE o TR ER (TR
TRPER R PEAE R TROEL > PR wE A T
'lﬁ%i&i%‘f?’ ’r_}jffc}f:]—i%ﬁzfd’?"’lﬂiﬁ.g ‘13“1{:3‘1-‘} ('liriﬁf
YR&F ~TRAY R ~BEF) R AT (ar:l«zmg

L
Mg%\%—%%\i‘ 7)) mERR G RTHE -
103 EERF YR (53 %w—ﬁ>imigﬁw’ﬁ@‘
;\3%%‘? AEAGFRT » 2> BRE4 - g 97 ﬁlafﬁ
m,:&n?&aSQ%m FRERELI-ENTEL ALY
AL ZEYVEY I3 FAR

Q-4 %ﬂ“ﬁfE"Lﬁ,ﬁ’t’ ’ JP [ I Wl L (??’\""31'}.@'—‘*@)
2Ry AEE o et ?
A2 :

Ly k2 Ry 7 #97 (ZEJILE) 22 B2 FH > s
PR LB MRERY CHRERATE RRETRELE (FN
101 &R~ % 1§ﬁﬂﬁb""4"‘199—ﬁ}§ﬁﬁ”'ﬂ:'5ﬁ"j§%}}:ﬂ§z§o)

2\?»\’:-7‘;—1—31—\.&?*:;

(1) B2 148% > B E A2 H A - 4 (fF R RIma) o
(2) B2 4% B E 4 2 Bl o
@)§4¢ﬁ“%% R BB B2 FATERE AR A

BE S EBERER 2 —2 £k TR ¢
(4)§4$ﬁf%% AR AT s SRR A ERE o
(5) FAgpugd g & SH A2 7ERE

QB REARDFRERDSEFFLBE SEH (
AZPNEYH TRBAEY 2 TA- 2 2F3P 8 24
Bs 9

A3 :

L3 3o R 83 R FO D RSN 8 R



.ﬁ BB R R LA ML T AR
_ﬁ\zle_l’rs ﬁ.%‘?FJE\}r’fﬁ‘— _;F;e.r-‘ga%‘f%ﬂyjy‘j{d—‘gz,o
Fg (fﬁ.g)m%‘f“'l‘:mn\'&‘g}%"%‘f*&é‘ﬁgw“f& WA E s
rlﬁm}ﬁ'?}ﬁﬁb‘ﬂ?ﬁi‘%\ﬁﬁm'ﬁ’ZI«JF-#&“" Foukiz ¥R
N2 FY > »2FERD o X FREY ”Lr/vﬁlﬂ”E‘* R T
£l (RF) FNTHHETRI 008 LT
Eol xf @ﬂﬁ?*’“lOO?ﬁlﬁ.%l?ﬁ%j} - Emo F)E
B P A RS R A FRELS | TR

245,000 ~ - # w&i*%‘fﬁﬁ‘ R FEHAN I EERS

?ﬂ@?ﬁ;ﬁﬁ-f‘:%%‘w e S 7 rﬁ/ﬁ Vu?}ﬁﬂE".L
Pl (F28BAiF g 292,530~) »RE 0l FERS
188w e spLspadet 1@ 7,530 ~ (2,2530-5,000) -



